Datum

2210

558,3 NYA GAVLAR OCH VAGGFASTEN 120712 |AS
334
TECHNICAL SPECIFICATION.
»/@ 12 ART NR: 200018012
|s AISI 316L / 14404
WORKING PRESSURE: 70 Bar
dH D MAX PRESSURE: 100 Bar
G | D MAX TEMP: 150°C
_\CE | | ;32 HOSE: 35M 1"/ 50M %"
E § INLET: 1" BSP MALE
< R = 2 OUTLET: 1" BSP MALE
48 8 BRB 8,4x16x1,6 1250841
47 2 VAGGFASTE TILL SLANGVINDA 200018012-13
32 1 SLANGINFASTNING 1" BSP MALE 2530-251-212
31 1 SEXKANTMUTTER 1" 1.4404 BSP 24096
[e) 30 1 SVIVEL 1" BSP MALE 13-120322
O 29 1 GAVEL VEVSIDA 240 200018012-10
28 1 BRB 6,4x12x1,5 AL DIN125 125AL64
217 12 M8x16 M6S ROSTFRI Ak 933AL408016
433 26 8 M8 Mutter M6S AL 934AL0080
25 4 M8 LASMUTTER A4 NYLOC 985AL408
24 2 M6 LASMUTTER AL 985AL06
23 3 M6x12 M6S AL 933A406012
22 14 M8 MHM KUPOLMUTTER A4 RF 1587AL08
19 1 Mont.bricka vev slangrulle 2-BRICKAL45x31
] 45x31x3
o\ 17 1 Mont.bricka 1" slangrulle 2-Brickak2x34 Sipt
ELE . 42x34.5x5
\ 16 1 DISTANS RF 210x1 2-0-1090-920
_ \, 12 1 VINGSKRUV M6x50 2-0-1090-940
Ecﬁ | -~ 1 1 DISTANS INCO 1090-930
Gl m~ 10 1 BROMS TILL SLANGVINDA 1090-910
- 2 9 21 Distansror slangvinda RF 812 2-0-1100-8-RF
E L s L=114
% 8 1 GANGSTANG M8x362 MM SS2348 1050-10-5-RF
7 1 VEV KPL RF 2-0-1090-RF
EICE 6 1 Vevinfastning kpl rostfri 2-0-1050-8-RF
M o b 1 GAVEL SVIVELSIDA 934 200018012-11
Q) 3 2 7-KANTS NAVPLAT 2-0-1800-4
2 2 SLANGVINDESIDA 2530 2-0-1800-3
400 S m \ é‘@ 1.5
200018017 w




